
ALF 
PROVISIONAL ANSWER KEY (CBRT)

Name of The Post 

Advertisement No 
Preliminary Test Held On
Que. No. 
Publish Date 
Last Date to Send 
Suggestion (S) 

Instructions / સૂચના
Candidate must ensure compliance to the instructions mentioned below, else objections 
shall not be considered: - 
(1) All the suggestion should be submitted Physically in prescribed format of suggestion sheet. 
(2) Question wise suggestion to be submitted in the prescribed format of Suggestion Sheet 

published on the website. 
(3) All suggestions are to be submitted with reference to the Master Question Paper with 

provisional answer key, published herewith on the website. Objections should be sent 
referring to the Question, Question No. & options of the Master Question Paper.  

(4) Suggestions regarding question nos. and options other than provisional answer key (Master 
Question Paper) shall not be considered. 

(5) Objections and answers suggested by the candidate should be in compliance with the 
responses given by him in his answer sheet /response sheet. Objections shall not be 
considered, in case, if responses given in the answer sheet /response sheet and submitted 
suggestions are differed. For the purpose, the candidate shall attach a copy of his 
answersheet/ Response sheet along with his application(s). 

(6) Objection for each question shall be made on separate Suggestion sheet. Objection for more 
than one question in single Suggestion sheet shall not be considered & treated as cancelled. 
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001. 1946Lkk ¼khíkeÞ LkkiMkuLkk Lkk çk¤ðk çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk Mkk[wt LkÚke ?

(A) yk çk¤ðku HMIS ík÷ðkhLkk huxªøMk (LkkuLk f{eþLz ykuVeMkh) [The ratings (non commissioned officers)
on HMIS Talwar] îkhk Mkki «Úk{ þY fhðk{kt ykÔÞku níkku.

(B) LkkiMkuLkk {æÞMÚk nzíkk÷ Mkr{ríkLkk «{w¾ yu{yuMk ¾kLk níkk.

(C) MkhËkh Ãkxu÷Lke {æÞMÚkeLkk fkhýu çk¤ðkLkku ytík ykÔÞku níkku.

(D) WÃkhLkk Ãkife yuf Ãký Lk®n

002. {nkí{k økktÄe rðþu Lke[uLkk Ãkife fÞwt rðÄkLk MkíÞ LkÚke ?

(A) økktÄeSyu xkuÕMkxkuÞ Vk{oLke MÚkkÃkLkk fhe fu ßÞkt MkíÞkøkúneykuLkk Ãkrhðkh hne þfu.

(B) ¾uzqíkkuLke Mk{MÞkyku òýðk {kxu hksfw{kh þwõ÷ îkhk økktÄeSLku [tÃkkhÛÞ ¾kíku yk{trºkík fhðk{kt ykÔÞk níkk.

(C) y{ËkðkË r{÷ fk{ËkhkuLke nzíkk÷ çkkË ‘íkeLkfkXeÞk’ hË fhðk{kt ykðe.

(D) ¾uzk MkíÞkøkún ËhBÞkLk MkhËkh Ãkxu÷ yLku ELËw÷k÷ Þkr¿kf, {nkí{k økktÄe MkkÚku òuzkÞk.

003. Lke[uLkk Ãkife fÞwt/fÞk Þwø{ ÞkuøÞ heíku òuzkÞu÷k Au ?

1. hkò hk{ {kunLk hkÞ – Mkkðorºkf Ä{oLkku «[kh fÞkuo

2. ykÞo Mk{ks – ðuË íkhV ÃkkAk ð¤ku.

3. «kÚkoLkk Mk{ks – ËuðËkMke «Úkk hË fhe.

4. rLkhtfkhe [¤ð¤ – çkkçkk hk{ ®Mk½

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) 1, 2, 3 yLku 4 (B) {kºk 1, 2 yLku 3

(C) {kºk 1, 3 yLku 4 (D) {kºk 2, 3 yLku 4

004. Lke[uLkk Ãkife fÞk ykrËòrík çk¤ðkLkwt {wÏÞ fkhý {kLkð çkr÷ ÃkhLkku «ríkçktÄ níkku ?

(A) MkktÚk÷ çk¤ðku (Santhal Uprising) (B) ¾kUz çk¤ðku (Khond Uprising)

(C) hktÃkk çk¤ðku (Rampa Uprising) (D) {wtzk çk¤ðku (Munda Uprising)

005. Lke[uLkk Ãkife fE MktMÚkk/MktøkXLk/«fkþLk yu ËkËk¼kE LkðhkuS MkkÚku Mktf¤kÞu÷wt Au ?

1. øÞkLk «fkþ {tz¤e

2. hknwLkw{e {ÍËkÞkMkLk Mk¼k (Rahunumi Mazdayasan Sabha)

3. hkMík økku^íkkh (Rast Goftar)

4. EMx #rzÞk yuMkkuMkeyuþLk

5. ðkpEMk ykpV EÂLzÞk

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) 1, 2, 3, 4 yLku 5 (B) {kºk 2, 3, 4 yLku 5

(C) {kºk 1, 2, 3 yLku 4 (D) {kºk 1, 2 yLku 3
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006. òzuò ðtþLkk þkMkfku rðþu Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. ò{ hkð¤ çkkË, ò{ rð¼kS yu LkðkLkøkhLkk hkò çkLÞk.

2. ò{ MkíkkS - Ãknu÷k (ò{ MkíkkS-I) yu ‘{suðze’ økk{ LkSf sqLkkøkZLkk ÞwØ{kt yfçkhLke MkuLkkLku ÃkhkMík fhe níke.

3. òzuò ðtþLkk hkò nhÄ÷SLku ‘Ãkrù{ ¼khík fk çkkËþkn’ Lkwt rçkYË ykÃkðk{kt ykÔÞwt níkwt.

4. E. Mk. 1549{kt ¾tøkkh yu fåALkku «Úk{ hkð çkLÞku yLku ¼qsLku íkuLke hksÄkLke çkLkkðe.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1, 2 yLku 3 (B) {kºk 2, 3 yLku 4

(C) {kºk 1, 2 yLku 4 (D) {kºk 1 yLku 2

007. 1857 Lkk rðÃ÷ðLku Ëçkkðe Ëuðk{kt Lke[uLkk Ãkife fÞk hkßÞku yu ytøkúuòuLku xufku ykÃÞku níkku ?

1. øðk÷eÞhLkk ®MkÄeÞk

2. niËhkçkkËLkk rLkÍk{

3. yðÄLkk çkuøk{

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1 (B) 1 yLku 2

(C) 2 yLku 3 (D) 1, 2 yLku 3

008. ®MkÄw MktMf]ríkLkk ÷kufkuLkk {LkkuhtsLk çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. íkuyku Lk]íÞ yLku MktøkeíkLkku ykLktË {kýíkk níkk.

2. íkuyku rþfkh yLku hÚk Ëkuz{kt hMk Ähkðíkk níkk.

3. íkuyku ÃkkMkkLke h{ík{kt hMk Ähkðíkk níkk.

4. çkk¤fkuLkk {LkkuhtsLk {kxu h{fzkt níkk.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1 yLku 2 (B) {kºk 1, 3 yLku 4

(C) {kºk 1 yLku 3 (D) {kºk 2 yLku 4

009. EMx #rzÞk ftÃkLkeLkk ¼khíkeÞ yusLx («ríkrLkrÄ) .......... níkk.

(A) ½kxðk÷e (Ghatwali) (B) ËuþÃkktzu (Deshpande)

(C) økk{wMíkkn (Gamustah) (D) Ë÷Ãkrík (Dalapati)

010. ®MkÄw ¾eýLke MktMf]rík çkkçkíku Lke[uLkk Ãkife fÞk rðÄkLkku MkíÞ Au ?

1. yk MktMf]rík Mkki«Úk{ 1921{kt Ãktòçk ûkuºk{kt nhÃÃkk ¾kíku yLku íÞkh çkkË 1922{kt ®MkÄ «ktík{kt ®MkÄw LkËe LkSf
{kunUòuËzku ¾kíku {¤e ykðe.

2. çktLku þnuhkuLke Wíf]ü rðþk¤íkk, yu çku rðþk¤ hkßÞku{kt yÚkðk ðifÂÕÃkf hksÄkLkeyku MkkÚku yuf Mkk{úkßÞLkk hksfeÞ
fuLÿefhýLkwt Mkq[Lk fhu Au.

3. MktMf]ríkLkku Ërûký ûkuºk fu su fkrXÞkðkz rîÃkfÕÃk yLku íkuLke ÃkAeLkku rðMíkkh Au yu ®MkÄw MktMf]ríkLkk {wÏÞ MÚk¤ku fhíkkt
ÃkAeLkk Mk{Þ{kt WËT¼ð ÃkkBÞku nkuÞ íku{ sýkÞ Au.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1 yLku 2 (B) {kºk 1 yLku 3

(C) {kºk 2 yLku 3 (D) 1, 2 yLku 3
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011. 1857Lkk rðÃ÷ðLkk swËk-swËk MÚk¤Lkk LkuíkkykuLke òuze rðþu Lke[uLkk Ãkife fE òuze Mkk[e heíku òuzkÞu÷e LkÚke ?

(A) ÷¾Lkki ¾kíku – yðÄLkk çkuøk{ (B) ViÍkçkkË ¾kíku – ¾uzqík Lkuíkk

(C) fkLkÃkwh ¾kíku – {hkXk Lkuíkk (D) rçknkh ¾kíku – søkËeþÃkwhLkk s{eLkËkh

012. økktÄe-EŠðLk fhkh çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. ÷kuzo EŠðLk yLku økktÄe - fhkh 1931 {kt ykÔÞk.

2. yk fhkh yLkwMkkh fkUøkúuMku «Úk{ økku¤{uS Ãkrh»kË{kt ¼køk ÷eÄku.

3. ¼økík®MknLkk xufuËkhkuyu yk fhkhLkku Mk¾ík rðhkuÄ fÞkuo.

4. yk fhkh {wsçk Mk{wÿ rfLkkhu hnuLkkhk ÷kufkuLku fhðuhk rMkðkÞ {eXwt ÃkfððkLke {tsqhe ykÃkðk{kt ykðe níke.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) 1, 2, 3 yLku 4 (B) {kºk 1, 3 yLku 4

(C) {kºk 1, 2 yLku 3 (D) {kºk 2, 3 yLku 4

013. Lke[uLkk Ãkife fE òuze ÞkuøÞ heíku òuzkÞu÷e LkÚke ?

(A) Þwøkktíkh sqÚk – «VwÕ÷k fkn¬e (Prafulla Cahkki)

(B) fªøMk Vkuzo níÞk fuMk – ¾wËehk{ çkkuÍ

(C) y÷eÃkkuh »kzÞtºk fuMk – yh®çkËku ½ku»kLke ÄhÃkfz fhkE

(D) ®nËw Ä{o Mkt½ – ºký [kÃkufh (Chapekar) ¼kEyku

014. Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. ykÞo¼èu sýkÔÞwt fu Ãk]Úðe íkuLke ÄheLke ykMkÃkkMk Ãkrh¼ú{ý fhu Au.

2. ðhkn r{rnhLke çk]ník Mktrníkk yu ¾økku¤þk† rðþu Au.

3. økwÃíkðtþLkk hkòyku Mxe÷ Ãkeøkk¤ðkLke çkkçkík{kt òýeíkk níkk.

4. LkkøkkswoLku hMk r[rfíMkk Lkk{Lke Lkðe ykÞwÃkoØrík þkuÄe.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 2 yLku 3 (B) 1, 2, 3 yLku 4

(C) {kºk 1 yLku 4 (D) {kºk 1, 2 yLku 3

015. økwshkíkLkk çknkËwh þknLkk ËhçkkhLkk Mktøkeíkfkh fu su{ýu ‘çknkËwhe’ MkwMðhLke h[Lkk fhe níke íku Lke[uLkk Ãkife fkuý níkk ?

(A) MkkhtøkkËuð (Sarangadeva) (B) {hËkLkk (Mardana)

(C) çkisw (D) WÃkhLkk Ãkife yuf Ãký Lk®n

016. Lke[uLkk Ãkife fÞk {w½÷ hkò ÃkkMkuÚke òunLk r{ÕzuLknku÷ (John Mildenhall) yu økwshkík{kt ÔÞkÃkkh fhðkLkku Vh{kLk
{u¤ððk «ÞíLk fÞkuo níkku ?

(A) yfçkh (B) snktøkeh

(C) ykihtøkÍuçk (D) WÃkhLkk Ãkife yuf Ãký Lk®n
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017. ÃkkxýLkk þt¾uïh {trËh çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. rð¢{ Mktðík 1155 (E.Mk. 1099) {kt MkßsLk þkn yu þt¾uïh {trËhLkwt rLk{koý fÞwO níkwt.

2. yk {trËh YÃkuý LkËeLkk fktXu çkktÄðk{kt ykÔÞwt.

3. yk {trËh ÃkkïoLkkÚk ¼økðkLkLku Mk{ŠÃkík fhðk{kt ykÔÞwt Au.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1 yLku 2 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 3 (D) 1, 2 yLku 3

018. «k[eLk þnuh [ktÃkkLkuh{kt .......... Ëhðkò Au.

(A) Lkð (B) Mkkík

(C) Mkku¤ (D) MkíÞkðeMk

019. {kuZuhkLkwt MkqÞo {trËh yu .......... {ktÚke çkLkkððk{kt ykÔÞwt Au ?

(A) ÷k÷ huíkeLkk ÃkÚÚkh (B) MkkuLkuhe fÚÚkkE huíkeLkk ÃkÚÚkh

(C) #x (D) ykhMk

020. Íw÷íkk r{Lkkhk yu .......... ¾kíku ÂMÚkík Au.

(A) ò{e {MSË, y{ËkðkË (B) yËeLkk {MSË

(C) MkeÄe çkþeh {MSË (D) ò{e {MSË, ¾t¼kík

021. fåAe LkqíkLk ð»ko Lke[uLkk Ãkife fÞk rËðMku {Lkkððk{kt ykðu Au ?

(A) W¥khkÞý (B) çkuMkíkwt ð»ko

(C) y»kkZe çkes (D) WÃkhLkk Ãkife yuf Ãký Lk®n

022. Lke[uLkk Ãkife fE ¼k»kkyku ÿrðz ¼k»kkykuLkk sqÚk MkkÚku òuzkÞu÷e Au ?

1. íku÷wøkw        2. íkr{¤        3. fLLkz        4. {÷Þk÷{        5. fkUfýe

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1 yLku 2 (B) {kºk 1, 2 yLku 4

(C) 1, 2, 3, 4 yLku 5 (D) {kºk 1, 2, 3 yLku 4

023. «k[eLk ¼khíkLkk EríknkMkLkk MktË¼o{kt Lke[uLkk Ãkife fE çkkçkík/fE çkkçkíkku çkkiØ Ä{o yLku siLk Ä{o{kt Mk{kLk Au.

1. íkÃkùÞko yLku ykLktËLke ykíÞtíkefíkkLkku íÞkøk

2. ðuËLke  yrÄfkheíkk «íÞu íkxMÚkíkk

3. ÄkŠ{f rðrÄykuLke yMkhfkhõíkkLkku ELkfkh

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1 yLku 2 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 3 (D) 1, 2 yLku 3

024. Lke[uLkk Ãkife fÞk Ëuðíkkyu ÉøðuËLkk {wÏÞ Ëuðíkk níkk ?

(A) ELÿ (B) ðYý

(C) yÂøLk (D) ðkÞw
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025. Lke[uLkk Ãkife fÞku økútÚk yu økrýíkþkMºk WÃkh «khtr¼f økútÚk Au ?

(A) MkwÕðkMkwºk (Sulvasutra)

(B) ykÞo¼èeÞ (Aryabhatiya)

(C) çkúñMkÃkwík rMkØktríkfk (Brahmasputa Siddhantika)

(D) rMkØktík rþhku{rý

026. Ãk]ÚðeLke ‘Perihelion’ ÂMÚkríkyu .......... Lkk MktË¼uo Au.

(A) yu rËðMkku fu ßÞkhu MkqÞoLkku «fkþ ffoð]¥k yÚkðk {fhð]¥k Ãkh ÷tçkYÃku Ãkzu Au.

(B) yuðe ½xLkk fu su ÷eÃk ð»ko{kt çkLku Au.

(C) yuðku rËðMk fu ßÞkhu rËðMk yLku hkík Mk{kLk ÷tçkkELkk nkuÞ Au.

(D) yuðku rËðMk fu ßÞkhu Ãk]Úðe yu MkqÞoLke MkkiÚke LkSf nkuÞ Au.

027. økwshkík hkßÞ{kt ðLÞSð y¼ÞkhÛÞ çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. støk÷e økË¼oLkw y¼ÞkhÛÞ fåALkk LkkLkk hý{kt ÂMÚkík Au.

2. Úkku¤ ík¤kð Ãkûke y¼ÞkhÛÞ{kt ®Mkn òuðk {¤u Au.

3. fwts (Crane) yu {exeÞk÷k ðLÞSð y¼ÞkhÛÞ{kt òuðk {¤u Au.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 2 (B) {kºk 1

(C) {kºk 2 yLku 3 (D) 1, 2 yLku 3

028. Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

(A) økwshkík yu ¼khík{kt MkkiÚke ðÄw fkÞohík çktËhku (Operational Ports) yLku ðkrýÂßÞf {k÷ðknf çktËhku
(Commercial cargo ports) Ähkðu Au.

(B) rËÕne - {wtçkE ykiãkurøkf fkuhezkuhLkku 50 «ríkþík økwshkík hkßÞ{kt ÂMÚkík Au.

(C) WÃkhLkk (A) íkÚkk (B) çktLku

(D) (A) yLku (B) yuf Ãký Lknª

029. økwshkík{kt Lke[uLkk Ãkife fÞk «fkhLkk støk÷ku òuðk {¤u Au ?

1. þw»f ÃkkLk¾h støk÷ku

2. Mk{þeíkku»ý þtfwÿw{ støk÷ku

3. W¥khe çkkuheÞ÷ støk÷ku

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1 yLku 2 (B) 1, 2 yLku 3

(C) {kºk 1 (D) {kºk 3
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030. Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. yurþÞkE ®Mkn íku{Lkk «kf]ríkf rLkðkMkMÚkkLk{kt økwshkík{kt økeh hk»xÙeÞ WãkLk yLku ðLÞSð y¼ÞkhÛÞ{kt òuðk
{¤u Au.

2. rðïLkwt MkkiÚke {kuxwt ¼híke (Tidal) {Uøkúwð ðLk, MkwtËhðLk yu «ÏÞkík hkuÞ÷ çktøkk¤ ðk½Lkwt rLkðkMkMÚkkLk Au.

3. W¥khk¾tz ÂMÚkík S{ fkuçkuox hk»xÙeÞ WãkLk yu çktøkk¤ ðk½ yLku yurþÞkE ®MknLkwt Þs{kLk Au.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1 yLku 2 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 3 (D) 1, 2 yLku 3

031. 2011 Lke ðMíke økýíkhe {wsçk Lke[uLkk Ãkife fÞwt hkßÞ MkkiÚke ykuAe ðMíke øke[íkk Ähkðu Au ?

(A) fýkoxf (B) økwshkík

(C) rºkÃkwhk (D) økkuðk

032. Lke[uLkk Ãkife fÞwt ÷ûký yu fk¤e {kxeLkwt {wÏÞ ÷ûký LkÚke ?

(A) íku {uøLkuþeÞ{ rðÃkw÷ {kºkk{kt Ähkðu Au. (B) fk¤e {kxeu yu «ríkr¢Þk{kt ykÕf÷kELk Au.

(C) íku LkkExÙkusLk rðÃkw÷ {kºkk{kt Ähkðu Au. (D) fk¤e {kxe yu VkuMVkuhef yurMkzLke WýÃk Ähkðu Au.

033. Mkkih{tz¤{ktLkku Lke[uLkk ÃkifeLkku fÞku økún yu MkqÞoLke ykMkÃkkMk MkkiÚke ykuAku ¼ú{ýfûkk Mk{Þøkk¤ku Ähkðu Au ?

(A) Ãk]Úðe (B) {tøk¤

(C) ÞwhuLkMk (D) çkwÄ

034. Lke[u Ëþkoðu÷ W¥khk¾tzLkk {trËhku ÃkifeLkwt fÞwt {trËh MkkiÚke ðÄw Ÿ[kE Ãkh ÂMÚkík Au ?

(A) fuËkhLkkÚk (B) øktøkkuºke

(C) Þ{Lkkuºke (D) çkËheLkkÚk

035. ‘íkhíkk xkÃkwyku’ (Floating Islands) yu ¼khík{kt .......... MkhkuðhLke rðrþü ÷kûkrýõíkk Au.

(A) Ãkw»fh Mkhkuðh (B) ÷kufxkf (Lok Tak) Mkhkuðh

(C) LkiLkeíkk÷ Mkhkuðh (D) WÃkhLkk Ãkife yuf Ãký Lk®n

036. 2011 Lke ðMíke økýíkhe yLkwMkkh økwshkíkLkk Lke[uLkk Ãkife fÞk rsÕ÷k{kt MkkiÚke ðÄw f]r»k {sËqhku LkkUÄkÞk Au ?

(A) ðzkuËhk (B) Mkwhík

(C) sqLkkøkZ (D) ykýtË

037. Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. MktMkË yLku hkßÞ rðÄkLkMk¼kyku yu íku{Lkk yrÄfkhûkuºk{kt fkÞËk ½zu Au.

2. MktMkË yLku hkßÞ rðÄkLkMk¼kykuLke ÄkhkfeÞ Mk¥kk rLkhtfwþ LkÚke.

3. MktMkËyuu ¼khíkLkk çktÄkhýLkk ÃkkÞkLkk {k¤¾kLku ¾ík{ yÚkðk çkË÷e þfu Lknª.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1 yLku 3 (B) 1, 2 yLku 3

(C) {kºk 2 (D) {kºk 1
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038. yþkuf {nuíkk Mkr{rík ynuðk÷Lke ¼÷k{ýku çkkçkíku Lke[uLkk Ãkife fÞw rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. Mkr{ríkyu Ãkt[kÞíke hksLke çku MíkheÞ ÃkØríkLke ¼÷k{ý fhe níke.

2. hkßÞ MíkhÚke Lke[uLkk Míkh Ãkh rsÕ÷ku yu Mkki «Úk{ rðfuLÿeík Úkðku òuEyu.

3. rsÕ÷k Ãkrh»kË yu fkhkuçkkhe {tz¤ Au yLku íku rsÕ÷k fûkkyu ykÞkusLk {kxu sðkçkËkh Au.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 2 yLku 3 (B) {kºk 2

(C) {kºk 1 yLku 3 (D) 1, 2 yLku 3

039. ¼khíkLkk çktÄkhýLkk rðfkMk (Evolution - Wí¢ktrík) çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. çktÄkhý Mk¼kLke «Úk{ {exªøk 9 zeMkuBçkh, 1946 Lkk hkus {¤e níke.

2. çktÄkhý Mk¼kLkk fkÞ{e yæÞûk íkhefu zkp. hksuLÿ «MkkË [qtxkÞk níkk.

3. Mke. hksøkkuÃkk÷k[khe yu 11 òLÞwykhe, 1947 Lkk hkus ‘Objective Resolution’ (WÆuþ Xhkð) ÃkMkkh fÞkuo níkku.

4. ‘Objective Resolution’ (WÆuþ Xhkð) yu çktÄkhýeÞ {k¤¾kLkku ÃkkÞku yLku rV÷kuMkkuVeLku rLkÞík fhu Au.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1, 2 yLku 4 (B) {kºk 1, 2 yLku 3

(C) {kºk 2 yLku 3 (D) {kºk 1 yLku 4

040. Lkðk {krníke yrÄfkh rçk÷, 2019 yLðÞu fuLÿeÞ Míkhu {krníke ykÞwõík (Chief Information Commissioner)
(CIC) yLku {krníke ykÞwõíkku (Information Commissioners) (ICs) Lke {wËík .......... Au.

(A) Ãkkt[ ð»ko yLku [kh ð»ko (B) Ãkkt[ ð»ko yLku Ãkkt[ ð»ko

(C) ºký ð»ko (D) WÃkhLkk Ãkife yuf Ãký Lk®n

041. ¼khík Mkhfkh rðYØ LIC ykpV ELzeÞk fuMk, 1995 {kt Mkðkuoå[ yËk÷ík .......... çkkçkík Ãkh yzøk hne.

(A) yk{w¾ yu ¼khíkLkk çktÄkhýLkku yr¼LLk ¼køk LkÚke.

(B) yk{w¾{kt MkwÄkhku ÚkE þfu Lk®n.

(C) yk{w¾ yu ¼khíkLkk çktÄkhýLkku yr¼LLk ¼køk Au.

(D) ‘y®nMkk’ þçËLku yk{w¾{kt Mk{krðü fhðku òuEyu.

042. 15{k Lkkýkt Ãkt[u fhLkk rð[÷Lk yLku LkkýkfeÞ çkkçkíkku {kxu ¼÷k{ýku ykÃkðkLke Au su fÞk LkkýktfeÞ ð»koLke þYykíkÚke
y{÷e çkLkþu ?

(A) 1÷e yur«÷ 2020 (B) 1÷e yur«÷ 2021

(C) 1÷e yur«÷ 2022 (D) 1÷e yur«÷ 2023

043. LÞkÞkÄeþ fu. yuMk. ÃkwèkMðk{e (rLkð]¥k) yLku yLÞ rðYØ ¼khík Mkt½ íkÚkk çkeò, Lkku LkkUÄÃkkºk fuMk fu su 2017{kt Mkðkuoå[
yËk÷ík îkhk rLkýeoík fhðk{kt ykÔÞku íku Lke[uLkk Ãkife fE çkkçkík MkkÚku Mkt÷øLk Au ?

(A) Mºkeyku (ðÞ sqÚk 10-50) Lku þçkhe{k÷k {trËh{kt «ðuþ «ríkçktÄ Ëqh fhíkku.

(B) økkuÃkLkeÞíkk (Privacy) Lkku nf

(C) IPCLke f÷{ 377 Lku ze¢e{eLk÷kEÍuþLk (rçkLk yÃkhkÄehý) fhíkku.

(D) FIR LkkUÄýeLku ykËuþkí{f çkLkkððkLke fkÞËuMkhíkkLke çkkçkík.
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044. Lke[uLkk Ãkife fE çkkçkík yu MktMkËeÞ «ýk÷eLke økwýð¥kk (merit) LkÚke ?

(A) ÄkhkMk¼k yLku fkhkuçkkhe ðå[u MkwMktøkíkíkk (B) sðkçkËkh Mkhfkh

(C) rLk»ýktíkku îkhk Mkhfkh (D) rðþk¤ «ríkrLkrÄíð (Wide representation)

045. Lke[uLkk Ãkife fÞku MktMÚkkLkeÞ yrÄrLkÞ{ ‘¼khík{kt MktMkËeÞ «ýk÷e’ Ëk¾÷ fhðk {kxu òýeíkku Au ?

(A) 1813Lkku [kxoh yrÄrLkÞ{ (B) 1833Lkku [kxoh yrÄrLkÞ{

(C) 1853Lkku [kxoh yrÄrLkÞ{ (D) 1858Lkku ¼khík Mkhfkh yrÄrLkÞ{

046. ¼khík yu rðÞuxLkk{ MkwÄe rðMíkkhðkLkk fÞk Äkuhe{køko çkkçkíku ASEAN MkkÚku ðkík[eík fhe hÌkw Au ?

(A) ¼khík – BÞkLk{kh – ÚkkE÷uLz (B) ¼khík – BÞkLk{kh – fkuheÞk

(C) ¼khík – BÞkLk{kh – çkktø÷kËuþ (D) ¼khík – BÞkLk{kh – [eLk

047. Mkðkuoå[ yËk÷íku SðLk SððkLkk yrÄfkh (yLkwåAuË 21)Lkk çknku¤k yÚko½xLk {kxu Lke[uLkk Ãkife fÞk {wÆkLkku W{uhku
fhu÷ku Au ?

1. SðLk SððkLkku yrÄfkh yu {kLk {ku¼k Þwõík StËøkeLkku yrÄfkhLkku Mk{kðuþ fhu.

2. SðLk SððkLkku yrÄfkh yu ykSrðfkLkk yrÄfkhLkku Mk{kðuþ fhu.

3. SðLk SððkLkku yrÄfkh yu ÷½w¥k{ ðuíkLk {u¤ððkLkk yrÄfkhLkku Mk{kðuþ fhu.

4. SðLk SððkLkku yrÄfkh yu ð»ko{kt 100 rËðMk {kxu hkusøkkhLke çkktnuÄheLkku Mk{kðuþ fhu.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) 1, 2, 3 yLku 4 (B) {kºk 1, 2 yLku 3

(C) {kºk 2 yLku 3 (D) {kºk 1 yLku 2

048. ¼khíkLkk çktÄkhýLkk 79{k ykxeof÷ (yLkwåAuË) {wsçk, Mkt½Lke MktMkË{kt .......... Lkku Mk{kðuþ ÚkkÞ Au.

(A) fuçkeLkux yLku rðhkuÄÃkûk (B) {kºk ÷kufMk¼k yLku hkßÞMk¼k

(C) hk»xÙÃkrík, ÷kufMk¼k yLku hkßÞMk¼k (D) WÃkhLkk Ãkife yuf Ãký Lk®n

049. ‘Financial Sector Assessment Program’ fu su ½ýe ð¾ík Mk{k[kh{kt nkuÞ Au íku .......... Lku MktçktrÄík Au.

(A) MkÇÞ Ëuþku{kt LkkýktfeÞ «ýk÷eLke yMkhfkhõíkk ðÄu íku {kxu IMF íkÚkk rðïçkUfLkku MktÞwõík «ÞkMk

(B) MkÇÞ ËuþkuLku íkf÷eV Lkk Mk{Þu Lkkýk ÔÞðMÚkkLku hefuÃkex÷kEÍ fhðk BRICS Lkku New Development BankLkku
fkÞo¢{

(C) Ëuþ{kt EhkËkÃkqðof økuhðíkoLk fhLkkhk Ãkh Ëu¾hu¾ hk¾ðkLkku RBILkku «kusuõx

(D) WÃkhLkk Ãkife yuf Ãký Lk®n

050. ðMíkw yLku Mkuðk fh Ãkrh»kË îkhk íkksuíkh{kt e-way BillLke Ëh¾kMík hsq fhðk{kt ykðe Au.

yk çkkçkíku Lke[uLkk rðÄkLkku Ãkife fÞwt rðÄkLk MkíÞ Au ?

1. íku ðMíkwLkku {kºk ytík:hkßÞ (intra-state) ÃkrhðnLk {kxu s ÷køkw Ãkzþu.

2. íku Yk. 50,000 Úke ðÄwLkwt {qÕÞ Ähkðíke ðMíkwLkk yktíkh hkßÞ (inter-state) ÃkrhðnLk {kxu ÷køkw Ãkzþu.

3. yk rçk÷ yu hkßÞ{kt ðMíkwLkk Mkh¤ ÃkrhðnLk íkhV Ëkuhe sþu.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 2 (D) 1, 2 yLku 3
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051. Ãkhðk¤kLkk ¾hkçkkLku LkwfMkkLk (Coral bleaching) {kt MkkiÚke LkkUÄLkeÞ Ãkrhçk¤ fÞwt Au ?

(A) Ãkhðk¤kLkk hkuøkLkk WÃkÿð (B) Mk{wÿLkk ÃkkýeLkku fktÃk

(C) ðirïf íkkÃk-ð]ÂæÄ (Global Warming) (D) WÃkhLkk ík{k{

052. Mk{krðü ð]ÂæÄ (Inclusive Growth) yu ¼rð»ÞLkk ykŠÚkf rðfkMkLkku {wÆku Au. Mk{krðü ð]ÂæÄLke «ÞwÂõík yu ..........
Ãkh æÞkLk fuLÿeík fhíke LkÚke.

(A) þiûkrýf íkfku ðÄkhðe.

(B) ÃkAkík òríkyku{kt økheçke ½xkzðe.

(C) ykrËòrík ðMíkeLke ykSrðfkLku ðirðæÞ Ãkqhwt Ãkkzðwt.

(D) ykiãkurøkf ûkuºkku{kt ykLkw»ktrøkf WãkuøkkuLku W¥kusLk ykÃkðwt.

053. økwÃík (disguised) çkuhkusøkkhe yu Wå[ fûkkLkk hkusøkkhLkku árüfkuý Mksoðk Aíkkt íku rLkBLk fûkkLkk hkusøkkh íkhV Ëkuhe
òÞ Au. økwÃík çkuhkusøkkhe yu Mkk{kLÞ heíku .......... ûkuºk{kt «ðíko{kLk nkuÞ Au.

(A) WíÃkkËLk ûkuºk (B) ÷½w Wãkuøkku

(C) þnuhe Mk{ks (D) f]r»k

054. yuf [÷ýLke MkkÃkuûk{kt yLÞ [÷ýLkk {qÕÞ{kt ð]ÂæÄ yu ©uc heíku .......... ÃkË îkhk Mk{òðe þfkÞ.

(A) ÃkwLk:{qÕÞktfLk (Revaluation) (B) yð{qÕÞLk (Devaluation)

(C) ½Mkkhku (Depreciation) (D) {qÕÞð]ÂæÄ (Appreciation)

055. ¼khík{kt fku{kuzexe ([esðMíkw) {kfuox rðþu Lke[uLkk Ãkife fÞwt rðÄkLk / fÞkt rðÄkLkku MkíÞ Au ?

1. ¼khík{kt fku{kuzexe {kfuox yu ykuÃþLk xÙuzªøk yLku ^Þw[h xÙuzªøk çktLku rðfÕÃkku Ãkqhk Ãkkzu Au.

2. ¼khík{kt SEBI yu fku{kuzexe {kfuoxLkk rLkÞtºkf Au.

3. ¼khíkLkwt «Úk{ yktíkhhk»xÙeÞ Mxkuf yuõMk[uLs ‘India Inx’ yu fku{kuzexe zuheðuxeÔÍLkk xÙuzªøk {kxuLkwt Ã÷uxVku{o Ãkqhwt
Ãkkzu Au.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 3 (D) 1, 2 yLku 3

056. Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

1. 2011Lke ðMíke økýíkhe «{kýu økwshkíkLkku ËkÞfk ËhBÞkLkLkku ðMíke ð]ÂæÄ Ëh 19.3 Au.

2. 2011Lke ðMíke økýíkhe «{kýu økwshkíkLkku çkk¤ ®÷øk økwýku¥kh yu 890 Au.

3. ykŠÚkf ðMíke økýíkheyu WíÃkkËLk{kt Mktf¤kÞu÷e ík{k{ MktMÚkkykuLku økýíkhe{kt ÷u Au.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 2 (D) {kºk 1 yLku 3

057. WÃk¼kuõíkk ¼kð Mkq[fktf yu .......... {kt ¼kð WÃkh ykÄkrhík nkuÞ Au.

(A) sÚÚkkçktÄ çkòh (B) Aqxf çkòh

(C) rðËuþe çkòh (D) WÃkhLkk Ãkife yufÃký Lknª
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058. Mkk{kSf Mkwhûkk ÞkusLkk ‘Aam Admi Bima Yojana’ (AABY) çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ
Au ?

1. AABY yu fwËhíke {]íÞw Mkk{u Yk. 30,000/- Lkwt ßÞkhu yfM{kíku {]íÞw Mkk{u Yk. 75,000/- Lkwt ðe{k fð[ Ãkqhwt Ãkkzu Au.

2. Aam Admi Bima Yojana (AABY) yu ¼khík MkhfkhLke Mkk{kSf Mkwhûkk ÞkusLkk Au suLkku ðneðx ¼khíkeÞ
SðLk ðe{k rLkøk{ (LIC) îkhk ÚkkÞ Au.

3. 18 ð»koÚke 59 ð»ko ðÞ sqÚkLke ÔÞÂõíkyku, 48 MkwrLkrùík fhu÷k ÔÞkðMkkrÞf / ÄtÄkfeÞ sqÚkku / økúk{eý s{eLk rðnkuýk
Ãkrhðkhku.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) 1, 2 yLku 3 (B) {kºk 1 yLku 2

(C) {kºk 2 yLku 3 (D) {kºk 1 yLku 3

059. çkeS Ãkt[ð»keoÞ ÞkusLkk çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk / fÞkt rðÄkLkku yMkíÞ Au ?

1. íku{kt ÷ktçkk Mk{ÞLkk ykŠÚkf ÷k¼ {kxu fuÃkex÷ økwzTÍ yLku ¼khu Wãkuøkku íkhVLkwt ÃkrhðíkoLk «rík®çkrçkík ÚkkÞ Au.

2. çkeS Ãkt[ð»keoÞ ÞkusLkkLku ‘Mahalanobis Plan’ íkhefu WÃkLkk{ {éÞwt.

3. íku{kt ðkŠ»kf hk»xÙeÞ ykðf ð]ÂæÄLkku ÷ûÞktf 4.5 «ríkþík Lk¬e fhkÞku.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1 (B) {kºk 2

(C) {kºk 2 yLku 3 (D) WÃkhLkk Ãkife yufÃký Lknª

060. Lke[uLkk Ãkife fkuýu “Gandhian Plan” Lke h[Lkk fhe ?

(A) {nkí{k økktÄe (B) yu{. yuLk. hkuÞ

(C) ©e{kLk LkkhkÞý yøkúðk÷ (D) yu{. rðïuMkðhiÞk

061. ð»ko 2019 {kt ËuþLke økúk{ Ãkt[kÞíkku{kt r{þ™ ytíÞkuËÞ ÞkusLkk nuX¤ rðfkMk yLku {k¤¾kfeÞ fkÞo¢{kuLkk y{÷efhý{kt
økwshkík çkeò ¢{u ykÔÞwt. fÞwt hkßÞ yk ÞkËe{kt «Úk{ ¢{u ykÔÞwt ?

(A) nrhÞkýk (B) {æÞ«Ëuþ

(C) fýkoxf (D) íkr{÷Lkkzw

062. Mkw÷¼ ¼khík yr¼ÞkLk (Accessible India Campaign) çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk / fÞkt rðÄkLkku MkíÞ Au ?

(A) Accessible India Campaign (AIC) yu MkwøkBÞ ¼khík yr¼ÞkLk íkhefu Ãký òýeíkwt Au.

(B) Äe{e «økríkLku fkhýu Acccessible India Campaign Lke ytrík{ yðrÄ {k[o 2020 Au.

(C) WÃkhLkk (A) íkÚkk (B) çktLku

(D) (A) yLku (B) yufÃký Lknª
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063. 2019Lkk Arms Amendment Bill (þMºkku MkwÄkhk çke÷)  çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

1. yk rçk÷ yu þMºkkuLkk ÷kÞMkLMkLke yðrÄ 3 ð»koÚke ðÄkhe 5 ð»koLke fhþu.

2. yk yrÄrLkÞ{u 1947 Lkk þMºk yrÄrLkÞ{{kt MkwÄkhku fÞkuo.

3. çku çktËqfkuLke {tsqhe {ÞkoËk WÃkhktík, ÔÞÂõík Ãkkuíku ðkhMkkøkík çktËqfkuLku rLkr»¢Þ ÂMÚkrík{kt hk¾e þfþu.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 3 (D) {kºk 1 yLku 2

064. ðÕzo EfkuLkku{ef Vkuh{Lkk suLzh økuÃk Mkq[fktf 2019 {kt ¼khík .......... {k ¢{u ykðu÷ Au.

(A) 100 (B) 109

(C) 112 (D) 124

065. VkuåÞwoLk {uøkuÍeLk îkhk çknkh Ãkkzðk{kt ykðu÷ VkuåÞowLk ELzeÞk 500 ÞkËe{kt he÷kÞLMk yu .......... Lku ÃkkA¤ Xu÷eLku
«Úk{ MÚkkLk «kÃík fhu÷ Au.

(A) IOC (B) Wipro

(C) TATA (D) ONGC

066. ICC xuMx hUfªøk 2019{kt rðhkx fkun÷e çkuxTMk{uLkLke ©uýe{kt xku[Lkk ¢{u ykðu÷ Au. çkku÷hLke ©uýe{kt .......... xku[Lkk
¢{u ykðu÷ Au.

(A) Kagiso Rabada (B) Pat Cummins

(C) Jasprit Bumrah (D) Jason Holder

067. UNICEF Lkk ‘Birth Registration for Every Child by 2030 : Are we on track’, heÃkkuxo yLkwMkkh ¼khíku
yuf ËkÞfk{kt birth generation gap {kt .......... Úke .......... Lkku ðÄkhku fÞkuo Au.

(A) 31% Úke 51% (B) 41% Úke 80%

(C) 51% Úke 90% (D) WÃkhLkk Ãkife yufÃký Lknª

068. .......... ËuþLke Toni-Ann Singh yu 69{e Miss World Competition 2019 {kt Miss World 2019 íkhefu
½kur»kík ÚkÞk Au.

(A) Ërûký ykr£fk (B) Lkk{eçkeÞk

(C) s{ifk (D) ÍeBçkkçðu

069. Lke[uLkk Ãkife fÞk Ëuþu ‘Suiso-Frontier’ Lkk{Lkwt rðïLkwt Mkki «Úk{ ocean going liquid hydrogen carrier ship
(ËrhÞkÚke síkwt «ðkne nkEzÙkusLkLkwt {k÷ ðknf snks) þY fÞwO ?

(A) s{oLke (B) òÃkkLk

(C) Ërûký fkuheÞk (D) [eLk
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070. {uzÙez MÃkuLk ¾kíku ÞkuòÞu÷ Cop 25 çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

1. CCPI {kt ô[k õ÷kEE{ux Ëu¾kð MkkÚku ¼khík 9{k ¢{u ykÔÞwt.

2. ¼khíku íkuLkk WíMksoLk íkeðúíkk{kt íkuLkk GDP Lkk 21% sux÷ku ½xkzku fÞkuo Au.

3. Cop 25 ¾kíku 73 Ëuþku Climate Ambition Alliance {kt òuzkÞk.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 2 (D) {kºk 1 yLku 3

071. UK Lke Mkk{kLÞ [qtxýe{kt çkkuheMk ßnkuLMkLk SíÞk íku .......... hksfeÞ ÃkûkLkk Au.

(A) MfkuxeMk LkuþLk÷ Ãkkxeo (B) fLÍðuoxeð Ãkkxeo

(C) ÷uçkh Ãkkxeo (D) WÃkhLkk Ãkife yufÃký Lknª

072. Lke[uLkk Ãkife fE f]rík yu [uMkLkk h{íkðeh ©e{kLk rðïLkkÚk ykLktËLke ykí{fÚkk Au ?

(A) Mind Master - Strategic lessions from the master.
(B) Mind Master - Kingdom of the Thoughts

(C) Great Grand Master - Victories and Defeat in Life
(D) Mind Master - Winning Lessons from a Champion’s life.

073. çÞwhku ykìV yuLkSo yuVeMkeÞLMke îkhk hk»xÙeÞ Qòo Mkthûký rËðMk (The National Energy Conservation Day)
.......... rËðMku ðkŠ»kf heíku {Lkkððk{kt ykðu Au.

(A) 30{e rzMkuBçkh (B) 24{e rzMkuBçkh

(C) 18{e rzMkuBçkh (D) 14{e rzMkuBçkh

074. Lke[uLkk Ãkife fE òuze / òuzeyku yu Mkk[e heíku òuzkÞu÷e Au ?

1. ÃkhMÃkhðkË (Mutualism) : çktLku òríkyku ÷k¼kLðeík çkLku Au.

2. MÃkÄko (Competition) : çktLku «òríkykuLku LkwfMkkLk ÚkkÞ Au.

3. Mkn¼kurøkíkk (Commensalism) : yuf «òríkLku LkwfMkkLk ÚkkÞ Au ßÞkhu çkeSLku fkuE yMkh Úkíke LkÚke.

4. Amenasalism : yuf «òríkLku ÷k¼ {¤u Au yLku çkeS «òríkLku yMkh Úkíke LkÚke.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1 yLku 2 (B) {kºk 3 yLku 4

(C) {kºk 1, 2 yLku 3 (D) 1, 2, 3 yLku 4

075. Bald Eagle yu Lkkþ ÚkðkLkk Ÿ[k òu¾{u Au fkhý fu íkuyku –

(A) íkuykuLke MkkEÍ (fË) ¾qçk {kuxwt Au. (B) Lke[ku «òu¥Ãkrík Ëh

(C) Ÿ[e xÙkuVef Míkh (D) Lkðe ðMkkník íkhV MÚk¤ktíkh

076. Lke[uLkk Ãkife fE søÞkyu Ãkhkð¤k xkÃkwyku ykðu÷k Au ?

1. yktËk{kLk-rLkfkuçkkh rîÃk Mk{qn       2. fåALkku y¾kík       3. {LLkkhLkku y¾kík       4. MkwtËhðLk

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 2 yLku 4 (B) {kºk 1, 2 yLku 3

(C) {kºk 1 yLku 3 (D) 1, 2, 3 yLku 4
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077. s{eLkLkwt MkkiÚke WÃkhLkwt Míkh yu .......... Lkwt çkLku÷wt nkuÞ.

(A) {kºk MkuLÿeÞ hsfý (Humus) yLku MkSð Sðíktºk

(B) {kºk MkSð Sðíktºk yLku {kxeLkk fý

(C) {kºk MkuLÿeÞ hsfý (Humus) yLku {kxeLkk fý

(D) MkuLÿeÞ hsfý, MkSð Sðíktºk yLku {kxeLkk fýku

078. ¼khík{kt Mkthrûkík ûkuºkkuLke ©uýe{ktLkk Lke[uLkk Ãkife fE ©uýe{ktLkk Lke[uLkk Ãkife fE ©uýe{kt MÚkkrLkf ÷kufku ¾kLkøke s{eLk
Ähkððk {kxuLke ÃkhðkLkøke LkÚke ?

(A) Sðkðhý yLkk{ík (Biosphere reserve) (B) hk»xÙeÞ WãkLkku

(C) UNESCO Lkk rðï nuhexus MÚk¤ku (D) ðLÞSð y¼ÞkhÛÞ

079. Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

(A) õ÷kuLkªøk{kt Ëkíkk{ktÚke Mkku{uxef fku»k (Somatic cell) ÷uðk{kt ykðu Au yLku íkuLkku WÃkÞkuøk ¼]ýLkk MksoLk{kt ÚkkÞ Au.

(B) ELk ðexÙku Vxeo÷kEÍuþLk yÚkðk xuMx xâqçk çkuçke{kt þw¢fku»k îkhk V¤ÿwÃk fhkÞu÷wt #zwt (çkes) yu øk¼koþÞ{kt
MÚkkLkktíkhý fhðkkt ykðu Au.

(C) WÃkhLkk (A) íkÚkk (B) çktLku

(D) (A) yLku (B) yufÃký Lknª

080. Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

(A) Mk{]Ø ÞwhurLkÞ{ yu Lkkøkrhf yýw ðes WíÃkkËLk íku{s Ãkh{kýwþMºkku çkLkkððk {kxu sYhe Au.

(B) ÃkËkÚkkuo fu su Mkh¤íkkÚke yýw rðåAuËLkÚke ÃkMkkh ÚkkÞ Au íku MktÃkqýo Ãkqðo YÃkktíkhLke ykð~Þfíkk Ähkðu Au.

(C) WÃkhLkk (A) íkÚkk (B) çktLku

(D) (A) yLku (B) yufÃký Lknª

081. Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku yMkíÞ Au ?

(A) LEO yÚkðk Ãk]Úðe LkSfLke ¼ú{ý fûkk (Near Earth Orbit (NEO)) yu Ãk]ÚðeLke ykMkÃkkMkLke yuðe ¼ú{ýfûkk
Au fu suLke Ÿ[kE 160 Úke 2000  rf.{e. Lke ðå[u nkuÞ Au.

(B) LEO Lkku ¼ú{ý Mk{Þ ykuAku - ykþhu 84 Úke 127 {eLkexLkku nkuÞ Au.

(C) WÃkhLkk (A) íkÚkk (B) çktLku

(D) (A) yLku (B) yufÃký Lknª

082. Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

(A) GSLV yu yðfkþ{kt ðÄw çkkuòu Ÿ[fðk {kxu ûk{íkk Ähkðu Au.

(B) GSLV yu ¼khu çkkuòu Ÿ[fe þfu Au fkhý fu íku íkuLkk ytrík{ íkçk¬k{kt ¢kÞkusuLkef yuLSLkLkku WÃkÞkuøk fhu Au.

(C) WÃkhLkk (A) íkÚkk (B) çktLku

(D) (A) yLku (B) yufÃký Lknª
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083. Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?
1. K-15 {eMkkE÷ yu Mkkøkrhfk-çku÷uMxef {eMkkE÷ íkhefu Ãký òýeíke Au, fu su yrhntík WÃkh økkuXððk{kt ykðe Au.

2. K-4 {eMkkE÷ yu K-15 {eMkkE÷Lke [rZÞkíke ykð]r¥k Au.
3. K-15 yu 700 rf.{e.Lke ÃknkU[ {ÞkoËk Ähkðu Au.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.
(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 3 (D) {kºk 1 yLku 2
084. Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

1. EÚkuLkku÷ yu yuf «fkhLkku ykÕfkunku÷ Au fu suLkwt WíÃkkËLk fkuEÃký VezMxkufLkku WÃkÞkuøk fhe ÚkE þfu Au.
2. ¾ktzLku MkeÄk ykÕfkunku÷ {kxu ykÚkku ÷kðe þfkÞ Au ßÞkhu Mxk[o yu Mkki «Úk{ ¾ktz{k YÃkktíkheík Úkðe sYhe Au.

3. 1 r÷xh EÚkuLkku÷, yu 1 r÷xh ÃkuxÙku÷Lke QòoLkk 2/3 sux÷e Qòo Ähkðu Au.
Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1 yLku 2 (B) {kºk 2
(C) {kºk 3 (D) 1, 2 yLku 3

085. Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ LkÚke ?
1. ½Lk yðMÚkk ÷uMkh (Mkku÷ez Mxux ÷uMkh) yu CD yLku DVD Ã÷uÞh{kt ðÃkhkíkk ÷uMkh suðk ÷uMkh Au.

2. økuMk ÷uMkh yu W{Ëk ðkÞwyku yÚkðk fkçkoLk zkÞkuõMkkEzLku {kæÞ{ íkhefu WÃkÞkuøk fhíkk ÷uMkh Au.
3. «ðkne zkE ÷uMkh yu fkçkoLkef yýw{kt ÿkðý (Solution of organic dye molecule) Lkku {kæÞ{ íkhefu WÃkÞkuøk

fhu Au.

4. yÄoðknf ÷uMkh yu CD Ã÷uÞh yLku çkkhfkuz MfuLkh{kt WÃkÞkuøk{kt ÷uðkÞ Au.
Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1, 2 yLku 3 (B) {kºk 2, 3 yLku 4
(C) {kºk 2 yLku 3 (D) WÃkhLkk Ãkife yufÃký Lknª

086. 1 yLku 1000 Ôkååku ykÔkíke 6, 7 yLku 15 Ôkzu rÔkÇkkßGk nkuGk yuÔke fuxÕke MktÏGkkyku n~ku ?
(A) 3 (B) 4

(C) 5 (D) ykBkktLkw yuf ÃkÛk Lknª
087. yBk]íkkLkku ÃkheåkGk fhkÔkíkk hksu fÌkwt, “íkuLke Bkkíkk Bkkhk MkkMkwLkwt yufBkkºk MktíkkLk Au”. íkku hks yLku yBk]íkk õGkk MktçktækÚke

òuzkGkuÕkk Au ?
(A) MkMkhk-ÃkwºkÔkækw (B) Ãkrík-ÃkíLke
(C) rÃkíkk-Ãkwºke (D) ykBkktLkw yuf ÃkÛk Lknª

088.  yuf ÔkøkoBkkt 40 rÔkãkÚkeoykuLke Mkhuhk~k ôBkh 16 Ôk»ko Au. íku ÔkøkoBkktÚke 17 Ôk»koLkku yuf rÔkãkÚkeo Ôkøko AkuzeLku òGk Au yLku yuf
LkÔkku rÔkãkÚkeo ËkÏkÕk ÚkkGk Au. òu nÔku yk ÔkøkoLke Mkhuhk~k 15.875 ÚkkGk íkku LkÔkk ykÔkuÕk rÔkãkÚkeoLke ôBkh fuxÕke n~ku ?
(A) 14 Ôk»ko (B) 12 Ôk»ko
(C) 10 Ôk»ko (D) ykBkktLkw yuf ÃkÛk Lknª

089. yuf åkkuhMkLke ÃkrhrBkíke 36 Bkexh nkuGk íkku íkuLkk rÔkfÛko Lke ÕktçkkE fuxÕke Úk~ku ?
(A) 18 Bkexh (B) 9 Bkexh
(C) 13.5 Bkexh (D) ykBkktLkw yuf ÃkÛk Lknª
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090. yuf Mkktfuríkf Çkk»kkBkkt ‘GENERAL’ Lkku Mktfuík ‘FFMFQBK’ nkuGk íkku ‘EFFECT’ Lkku Mktfuík õGkku n~ku ?

(A) DGEFBU (B) DFEGBU

(C) DGEFCR (D) ykBkktLkw yuf ÃkÛk Lknª

091. LkeåkuLke ©uÛkeBkkt Ïkqxíke MktÏGkk fE n~ku ?

4, 18,  ...?...,  100, 180, 294, 448

(A) 36 (B) 48

(C) 60 (D) ykBkktLkw yuf ÃkÛk Lknª

092.  Ëhuf ÕkeÃk Ôk»koBkkt fuxÕkk rËÔkMkku nkuGk Au ?

(A) 364 (B) 365

(C) 366 (D) ykBkktLkw yuf ÃkÛk Lknª

093. òu 2x2 + 5x + 3 = 0 nkuGk íkku x Lkk WfuÕk õGkk Úk~ku?

(A) –1, –3/2 (B) –1/2,  –3/2

(C) –1, 3/2 (D) ykBkktLkw yuf ÃkÛk Lknª

094. Lkeåku ykÃkuÕk rÔkfÕÃkku Ãkife õGkku rÔkfÕÃk yLGk rÔkfÕÃkku MkkÚku çktækçkuMkíkku LkÚke ?

(A) Ãkkhku (B) fuhkuMkeLk

(C) ÃkuxÙkuÕk (D) yuMkexkuLk

095. yuf ÔkMíkw Yk. 4,000Bkkt ÔkuåkÔkkÚke Yk. 25% LkVku ÚkkGk Au, íkku íkuLke Bkqék ®fBkík fuxÕke n~ku?

(A) Y. 3,000 (B) Yk. 3,200

(C) Yk. 3,600 (D) ykBkkLkwt yuf ÃkÛk Lknª

096.  Yk. 8,000Lkwt 15%Lkk Ëhu 2 Ôk»ko 4 BkkMkLkwt åk¢Ôk]rææk ÔGkks fuxÕkwt Úk~ku ?

(A) Yk. 3,059 (B) Yk. 3,109

(C) Yk. 3,159 (D) ykBkkLkwt yuf ÃkÛk Lknª

097. P yuf fkBk 18 rËÔkMkBkkt Ãkqhwt fhu Au yLku Q íku s fkBk P fhíkk yzækk MkBkGkBkkt Ãkqhwt fhu Au. òu P yLku Q çktLku yufMkkÚku fkBk
fhu íkku 1 rËÔkMkBkkt íkuyku fuxÕkwt fkBk fh~ku ?

(A) 2/5 (B) 2/9

(C) 1/6 (D) ykBkktLkw yuf ÃkÛk Lknª

098. yuf r¢fux BkuåkBkkt yuf çkuxMkBkuLk 30 ËzkLkku MkkBkLkku fhu íGkkhu 6 çkkWLzÙe Vxfkhu Au. íkku íku çkkWLzÙe Lk ̂ xfkhu íkuLke MktÇkkÔkLkk
fuxÕke ?

(A) 2/5 (B) 5/9

(C) 4/5 (D) ykBkktLkw yuf ÃkÛk Lknª

099. yuf ÔkíkowékLke rºkßGkk 14 MkuBke Au. íkku íku ÔkíkowékLkwt ûkuºk^ék fuxÕkwt Úk~ku ? ( = 22/7)

(A) 616 åkku. MkuBke (B) 636 åkku. MkuBke

(C) 700 åkku. MkuBke (D) ykBkktLkw yuf ÃkÛk Lknª

100. yuf xÙuLk 90 rfBke/fÕkkfLke ÍzÃku økrík fhu Au. íkku íku 10 rBkrLkxBkkt fuxÕkwt ytíkh fkÃk~ku ?

(A) 9 rfBke (B) 12 rfBke

(C) 15 rfBke (D) ykBkktLkw yuf ÃkÛk Lknª
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101. The industry standard light source for viewing colour is -
(A) 300 °K (B) 10,000 °K
(C) 5000 °K (D) 9500 °K

102. As per Gujarat State purchase policy 2016, for tender inquiry which of the following clauses
should be incorporated -
(A) Sales Tax (B) Customs and Excise duty
(C) Transit insurance (D) All of the above

103. Dandy Roll is used in paper manufacturing for producing
(A) Smoothness (B) Glazing
(C) Water mark (D) Finish

104. Nick of type is used for
(A) Balance (B) Stability
(C) Justification (D) Right placement of type

105. Rack and pinion is used in
(A) offset printing machine (B) letter press printing machine
(C) flexo printing machine (D) All of the above

106. Straw Board is :
(A) Brittle (B) Short fibered
(C) Lime contained (D) None of the above

107. Perfect binding is also known as
(A) Adhesive binding (B) Wiro binding
(C) Glue binding (D) All of the above

108. Which one of the following fibres have longest dimensions in terms of length
(A) Sisal (B) Manila
(C) Cotton (D) Spruce

109. According to Gujarat State Purchase Policy 2016, the tender should be liable to be rejected at
the time of opening of earnest money deposit cover it -
(A) Required EMD amount is not paid
(B) EMD is not paid in the prescribed form as required in tender enquiry
(C) Documents for claiming exemption are not enclosed
(D) All of the above

110. The tack of the ink is affected by -
(A) Viscosity (B) Press speed
(C) Ink film thickness (D) All of the above

111. Printing and binding charges are -
(A) Fixed cost (B) Variable cost
(C) Both (A) and (B) (D) None of the above

112. Hickeys are caused by
(A) Defective plate (B) Defective blanket
(C) Solid particles on plate or blanket (D) Ink pigmentation
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113. Purpose of APR server is to
(A) fit the text in appropriate position as per layout
(B) replace low resolution images with high resolution
(C) store picture bank
(D) All of the above

114. Higher shutter speed in digital camera corrosponds to shooting
(A) of still objects (B) of moving objects
(C) in low light conditions (D) in bright light conditions

115. The major component of rotogravure press is engraved cylinder
(A) True (B) False
(C) Partially false (D) None of the above

116. Name a colour scheme that uses colour that sit side by side on the colour wheel or have a common
Hue
(A) Colour scheme (B) Triod colour scheme
(C) Monochrome colour scheme (D) Analogous colour scheme

117. As per Gujarat State Purchase Policy 2016, what is a reasonable sample size for checking supplies
to the inventory ?
(A) 15% (B) 10%
(C) 12.5% (D) 17.5%

118. In halfsheet work assembly 2000 printed sheets will be obtained by printing
(A) 2000 Sheets (B) 1000 Sheets
(C) 500 Sheets (D) 1500 Sheets

119. Which of the following inventory management technique is not suitable for a printing press?
(A) Safety stock inventory (B) Just in time inventory management
(C) ABC analysis (D) Minimum order quantity

120. If you are printing braille dot by screen printing, you are probably using -
(A) Higher mesh count with thin ink (B) Lower mesh count with thick ink
(C) Higher mesh count with thick ink (D) Lower mesh count with thin ink

121. Which of the following density range is recommended by GAA, for a continuous tone image
(A) 0.30 to 2.65 (B) 0.30 to 2.00
(C) 0.30 to 3.00 (D) 0.30 to 1.65

122. Direct image and projection plates are generally used for -
(A) Scanner (B) Dry offset
(C) Duplicating by offset (D) None of the above

123. The range of UV radiation used for curing is -
(A) 315 - 280 n.m. (B) 100 - 280 n.m.
(C) 315 - 380 n.m. (D) All of the above

124. Kerning is the process of
(A) Altering type character space (B) Altering line spacing
(C) Altering paragraph spacing (D) Altering page margins
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125. General purpose of beating paper pulp for making paper board is to -
(A) Decrease opacity and bulk (B) Increase tensile strength, density, hardness
(C) Both (A) and (B) (D) None of (A) and (B)

126. The term “folio” refers to -
(A) Full size (B) Half size
(C) Quarter size (D) None of the above

127. Push and pull type techinque is used in -
(A) Gripper mechanism (B) Registration mechanism
(C) Both (A) and (B) (D) None of the above

128. Waterless plates used in offset printing process, consists of -
(A) Water layer on its top (B) Silicon rubber layer on its top
(C) Both (A) and (B) (D) None of the above

129. Vector fonts are -
(A) Infinitely scalable (B) None scalable
(C) Scalable to a limit (D) None of the above

130. Optimum print contrast allows
(A) Excessive ink film thickness (B) Greater number of tones
(C) Dot gain (D) None of the above

131. The typical quality control tool used for P.S. plates is -
(A) UGRA 1982 plate control wedge (B) Stouffer 21 step sensitivity guide
(C) Both (A) and (B) (D) None of the above

132. Show through is the defect of
(A) Printing process (B) Paper
(C) Printing process and paper (D) None of the above

133. Turn over is calculated on the basis of -
(A) Gross sales (B) Net sales
(C) Profit (D) Loss

134. According to apprentice Act 1961, apprentice period of trainee is
(A) One year (B) Six month
(C) One and half year (D) None of the above

135. MICR inks are used for :
(A) Currency printing (B) Cheque printing
(C) Security printing (D) All of the above

136. How many density steps are there on GATF sensitivity guide
(A) 11 (B) 21
(C) 15 (D) 10

137. Automatic sweepaway, double push button system refers to -
(A) Printing machine (B) Blocking machine
(C) Cutting machine (D) None of the above
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138. Flat bed scanner works with -
(A) PMT (B) CCD
(C) PBM (D) MoS

139. A ream of paper of 61  88 cm size weights 21.5 kg. what will be the weight of the same paper in
quad crown size
(A) 35 kg (B) 29 kg
(C) 30 kg (D) 28 kg

140. As per Gujarat State Purchase Policy 2016, rate contract for the supply of stores is
(A) A contract for the supply of specific quantity of stores at a specified price during a certain

period
(B) A contract for supply of stores at specified rates during the period covered by the contract
(C) A contract where minimum 25% of quantity at a fixed rate is supplied to the stores
(D) None of the above

141. A typical laser / electrophotographic printer mostly employs an imaging system termed as :
(A) Raster image processing (B) Raster output scanner
(C) Dynamic imaging system (D) None of the above

142. Excess pressure between plate and impression cylinder causes -
(A) Dot gain (B) Dot loss
(C) Perfect dot reproduction (D) Scum

143. Calorimeter can be used to measure
(A) Density (B) Dot area
(C) Colour difference (D) All of the above

144. MIS used in small to mid size printing industry results in -
(A) Labour cost saving (B) Streamlining the jobs properly
(C) Maximising overall press efficiency (D) All of the above

145. Plate blinding is caused by -
(A) Scumming
(B) Erosion of image area on plate
(C) Excessive pressure between plate and blanket cylinder
(D) Both (A) and (C)

146. What is the resolution of gravure process
(A) 10 or more LPI (B) 20 or more LPI
(C) 140 or more LPI (D) 150 or more LPI

147. Which of these tools is not in the tool box of page maker?
(A) Ellipse tool (B) Polygon tool
(C) Rotating tool (D) Move tool

148. No screen exposure is also known as
(A) Flash exposure (B) Bump exposure
(C) Best exposure (D) Over exposure
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149. The chairman appointment for board of conciliation under the industrial dispute act 1947, is
(A) An independent person (B) Government employee
(C) Retired government employee (D) All of the above

150. Flexo presses are available in which configuration -
(A) STACK (B) CIC
(C) IN LINE (D) All of the above

151. Large deviation of colour difference is represented by E when value is
(A) Between 3.5 and 5.0 (B) Greater than 5.0
(C) Between 2.0 and 3.5 (D) Less than 10

152. Over casting is known as
(A) French sewing (B) Tape sewing
(C) Whipe sewing (D) None of the above

153. ASCII is related with -
(A) Mouse inputting (B) Printer outputting
(C) Image setter outputting (D) Keyboard inputting 

154. Control chart as a statistical control tool is based on
(B) Cause and effect analysis(A) Principal of random probability

(C) Variation in focussed part of process (D) Frequency across larger section of a process
155. Ink trapping measurement is based on

(A) No. of colours (B) No. of special colour
(C) Sequence of colours (D) None of the above

156. In Newtonian liquids, viscosity
(A) Increases with rate of shear (B) Decreases with rate of shear
(C) Remains constant (D) Decreases initially and remains constant later

157. Press routine involves -
(A) Registration of job (B) Making of a job ticket
(C) Job description (D) All of the above

158. Too thick ink film will result in -
(A) Difficulty in ink water balance (B) Picking and hickeys
(C) Ink set off (D) High Gloss

159. “Hue” typically is
(A) Colour temperature (B) Value of colour
(C) Name of colour (D) None of the above

160. Purpose of graining the plate is -
(A) Reduce plate thickness (B) Increase surface area of plate
(C) Both (A) and (B) (D) None of the above

161. The concept of how well a second ink prints over the first ink down is called -
(A) Ink transfer (B) Trapping
(C) Ink pressure (D) Ink distribution
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162. Latest automatic register control systems for gravure printing machine uses -
(A) Optical fiber detectors (B) Stroboscope
(C) Photo sensors (D) None of the above

163. Which activity expenditure out of the following is covered in the fixed cost?
(A) Cost of paper
(B) Processing & colour separation cost
(C) Rent of the press
(D) Editing manuscript and press copy preparation cost

164. Free supply of stationery by printing and stationery department Gujarat is for
(A) 3684 Govt. offices (B) 4280 Govt. offices
(C) 3482 Govt. offices (D) 3500 Govt. offices

165. Rounded and backed spine helps in :
(A) Protection of book (B) Ease of opening a book
(C) Covering the book (D) Asthetic look of the book

166. Which of the following plates is developed by water -
(A) Flexo plate (B) Dry offset plate
(C) Both (A) and (B) (D) None of the above

167. Halftone screen are traditionally designed to produce -
(A) Square dots (B) Elliptical dots
(C) Both (A) and (B) (D) None of the above

168. For high quality doctoring effect, doctor blade material should be -
(A) Carbon steel (B) Plastic
(C) Ceramic (D) All of the above

169. Standard viewing booth for checking print during printing used light source which is -
(A) A (B) D 50
(C) D 65 (D) None of the above

170. According to Gujarat State Purchase Policy 2016, minimum validity period of offers in respect
of ordinary purchases from tenderers should be -
(A) One month (B) Two months
(C) Three months (D) Four months

171. Proper control of ink tack is necessary for -
(A) Preventing picking of paper (B) Proper trapping in multicolour printing
(C) Both (A) and (B) (D) None of the above

172. Which of the following is not related with the category of FORMS -
(A) Daily dockets (B) Cost sheet
(C) Stock record (D) Invoice

173. Benefits of adopting GCR in News paper printing are -
(A) Improving trapping (B) More detailed shadows
(C) Improved press speed (D) All of the above
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174. Which of the following inks is green (environment friendly)?
(A) UV inks (B) Soy inks
(C) Plastisol inks (D) All of the above

175. For mass textile printing, the frames used in screen printing are -
(A) Wooden (B) Aluminium
(C) Tubular aluminium (D) Retensionable

176. Which tool is used for cropping in Coreldraw?
(A) Pick tool (B) Shape tool
(C) Zoom tool (D) Knife tool

177. Log of opacity is termed as
(A) Log (B) Density
(C) Reflectance (D) All of the above

178. How is stationery procured by department of printing and stationery, Gujarat?
(A) By publishing a notice in News papers (B) By 2 stage tender process and e-tendering
(C) By e-tendering only (D) None of the above

179. Split filter technique is used for :
(A) Yellow separation (B) Magenta separation
(C) Cyan separation (D) Black separation

180. Which one of the following is an indication of ratio of air space to solid content of the sheet -
(A) Substance (B) Caliber
(C) Bulk (D) Compressibility

181. In characteristic curve of a photographic film GAMA value represents
(A) Brightness (B) Exposure
(C) Both (A) and (B) (D) Contrast

182. By making ink film thickness double, The density will increase by -
(A) 0.6 (B) 0.5
(C) 0.4 (D) 0.3

183. Drum scanners produce better tonal variation compared to flat bed scanners, typically in -
(A) High lights (B) Middle tones
(C) Shadows (D) All of the above

184. ND - YAG laser (solid state laser) used in imaging systems on plate setter are characterised for
(A) Frequency multiplication compatibility (B) Good optical quality
(C) Wide power range (D) All of the above

185. Smart tag for packing perishable food items is based on the technology that uses -
(A) Temperature fluctuation as an indicator
(B) Contents like Vit. C, acetic acid etc. Which react with gold and silver nano rods over time
(C) Both (A) and (B)
(D) None of the above
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186. Anti set off spray unit is located in -
(A) Inking unit (B) Dampening unit
(C) Feeding unit (D) Delivery unit

187. Which of the following is a non-impact printing technique -
(A) Thermography (B) Magnetography
(C) Ionography (D) All of the above

188. A part from “SORT ORGANISE, SHINE, STANDARDIZE” The fifthe S in kaizen principle is -
(A) Self descipline (B) Stabilize
(C) Survive (D) Seize

189. The contact pressure in the NIP of cylinders for offset printing machine is generally
(A) 100 lbs per sq. inch (B) 200 lbs per sq. inch
(C) 150 lbs per sq. inch (D) None of the above

190. On gravure printing machine, dancer roller needs to adjust roll speed because -
(A) Web diameter keeps changing (B) Various types and thickness of substrate
(C) Both (A) and (B) (D) None of the above

191. The ink adhesion to film substrate test is a
(A) Hickey test (B) Tape test
(C) Taber abrason test (D) Sheffield test

192. As per Gujarat State Purchase Policy 2016, following action can be taken against suppliers /
contractors commiting serious defaults.
(A) Removal from approved list of registered suppliers
(B) Suspension of business
(C) Banning by one department for a fixed period
(D) All of the above

193. Serif fonts are not suitable for
(A) Collotype printing (B) Letterpress printing
(C) Screen printing (D) Flexo printing

194. What should a store manager look at while determining ordering frequency for an inventory?
(A) Past records (B) Current trends
(C) Basic knowledge (D) Reporting

195. UV ink curing / drying mainly occurs by -
(A) Evaporation (B) Precipitation
(C) Polymerisation (D) None of the above

196. Common thickness range of copper layer on a gravure cylinder is between -
(A) 0.006 to 0.030 inch (B) 0.006 to 0.30 inch
(C) 0.006 to 0.38 inch (D) 0.006 to 0.003 inch

197. Which of the following metals is used as image metal, in a bimetal plate
(A) Zinc (B) Copper
(C) Aluminium (D) Brass
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198. The refractive index of titanium dioxide used in printing ink is -
(A) 1.3 (B) 1.75
(C) 2.0 (D) 2.7

199. In SPANKSG formula for calculating ink consumption, what is the value of the constant?
(A) 345 (B) 365
(C) 355 (D) 375

200. When inks dry by absorption, which ingredient of ink mainly gets absorbed?
(A) Pigment (B) Resin
(C) Drying oil (D) Resin and drying oil

201. Hybrid screening concept is a combination of
(A) FM screening in middle tones and AM screening in high lights and shadows
(B) Random distribution of AM and FM screening on the image
(C) AM screening in middle tones and FM screening in high lights and shadows
(D) None of the above

202. In two shot binding which of the following combination of adhesives are used -
(A) Paste and glue (B) PVA and hot melt
(C) Gum and hot melt (D) Paste and PVA

203. Which of the following is done to avoid HALOS during flexo printing?

(A) Adjust pressure and reduce ink feed
(B) Add defoamer in ink
(C) Add slower solvent and monitor viscosity
(D) Check doctor blade setting

204. In maslow’s triangle of needs with bottom to top approach, “Safety” is placed -
(A) Above the “Esteem” (B) Below the “Esteem”
(C) Along with “Esteem” (D) None of the above

205. Too thin ink film results in -
(A) Low gloss and low colour strength (B) Picking and hickeys
(C) Incomplete coverage of paper (D) All of the above

206. The additive colour models use the concept of -
(A) Printing ink (B) Light to display colour
(C) Printing line (D) None of the above

207. Which option is used to import text on the page in Page maker?
(A) Open (B) New
(C) Insert (D) Place

208. What are the benefits for out sourcing of part of activities needed for producing print job?
(A) Capacity management (B) Focus on core processes
(C) Cost saving (D) All of the above
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209. According to industrial dispute act 1947 wages payable to a work man is respect of his employment
or of work done in such employment, includes -
(A) Any gratuity payable on the termination of his service
(B) Any travelling concession
(C) Any bonus
(D) All of the above

210. Crown size is :
(A) 15''  20" (B) 18"  23"
(C) 22"  30" (D) 15"  30"

211. Which of the following is the cheapest and most widly used extender?
(A) Benzene (B) Zinc white
(C) Alumina hydrate (D) Calcium carbonate

212. Dissolving alcohols in water will :
(A) Increase surface tension (B) Decrease surface tension
(C) Not change surface tension (D) All of the above

213. One of the easiest process to control in terms of control parameters for mass production is -
(A) Screen printing (B) Offset printing
(C) Gravure printing (D) Digital printing

214. PDF has become de facto standard for file transfer as it is
(A) Universal and flexible
(B) Allows editing to an extent
(C) Supports output print parameters setting
(D) All of the above

215. HTML is used for creating -
(A) Internet (B) Post script page
(C) Web page (D) EPS

216. Postscript language renders input into -
(A) Scaler format (B) Vector format
(C) Raster format (D) Both (A) and (B)

217. Which of the following is not a synthetic adhesive ?
(A) Hot melt (B) PVA
(C) Glue (D) None of the above

218. Excessive squeeze in blanket causes -
(A) Pre-mature plate damage (B) Dot gain
(C) Both (A) and (B) (D) None of the above

219. Room approach in ripping allows -
(A) Quality consistency (B) To maintain integrity of file
(C) Boosts client confidence (D) All of the above
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220. Which of the following describes the area of the Visual Electromagnetic Spectrum that causes a
Chemical Change :
(A) Colour Sensitivity (B) Wedge Spectrogram 
(C) Characteristic Curve (D) All of the above

221. Quasi-static process
(A) is infinitely slow process
(B) experiences thermodynamic equilibrium at every small point on its path
(C) reversible process
(D) All of the above

222. Tension in cable when the lift is going up is equal to____
(A) W (1 - f / g) (B) W (1 + f / g)
(C) W(g - f / g) (D) W (g + f / g)

223. When two bodies of mass M and 2M are connected by light inextensible string and pass over
smooth pulley with mass M on left side, then
(A) Tension in both sides of strings will be equal
(B) Tension in the left part of string will be twice than that in right part
(C) Tension in the left part of string will be half of that in right part
(D) None of the above

224. If D is the distance moved by effort and d is the distance moved by load then the Velocity Ratio
is given by:
(A) d/D (B) D/d
(C) d  D (D) 1 / (d  D)

225. A reversible machine is the one which has efficiency
(A) 100% (B) Less than 50%
(C) More than 50% (D) None of the above

226. Two forces A and B are acting at angle Q and their resultant is at an angle of R with force A than
(A) tan R = B sin Q / (B + A cos Q) (B) tan R = A sin Q / (A + B cos Q)
(C) tan R = B sin Q / (A + B cos Q) (D) tan R = A cos Q / (B + A sin Q)

227. The ratio of minimum exergy which must be consumed to perform the task to the actual amount
of energy consumed in performing the same task is called as
(A) first law efficiency (B) second law efficiency
(C) exergy efficiency (D) None of the above

228. Ratio of specific heat of gas at constant pressure and constant volume is
(A) Always constant (B) Always varies with pressure
(C) Always varies with temperature (D) None of the above

229. For the same expansion ratio, work done by gas in case of adiabetic process is
(A) More than work done in isothermal process
(B) Less than work done in isothermal process
(C) Same as in the case of isothermal process
(D) None of the above
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230. Any attainable value of absolute temperature is ________
(A) always less than zero (B) always equals to zero
(C) always greater than zero (D) None of the above

231. The statement: when two bodies are in thermal equilibrium with third, they are in equilibrium
with each other, is called
(A) First law of thermodynamics (B) Second law of thermodynamics
(C) Third law of thermodynamics (D) Zeroth law of thermodynamics

232. Efficiency of Carnot cycle can be increased by
(A) Increasing highest temperature (B) Decreasing lowest temperature
(C) Increasing lowest temperature (D) Both (A) and (B)

233. Heat supplied to gas at constant pressure
(A) Increases temperature of gas (B) Does external work during expansion
(C) Increases internal energy of gas (D) Both (A) and (B)

234. If cutoff is zero, efficiency of Diesel cycle
(A) Increases (B) Decreases
(C) Is same (D) None of the above

235. If hot and cold waters are mixed, then the entropy of system will
(A) Increase (B) Decrease
(C) Remain constant (D) None of the above

236. Second law of thermodynamics defines:
(A) Heat (B) Entropy
(C) Enthalpy (D) Work

237. For steady flow and constant conductivity, temperature distribution of plane wall is
(A) Parabolic (B) Linear
(C) Logarithmic (D) Cubic

238. If there are no externally induced flow velocities, then the Nusselt number (Nu) does not depend
upon
(A) Prandtl number (Pr) (B) Reynolds number (Re)
(C) Grashof number (Gr) (D) None of the above

239. In free convection, motion of fluid is caused by
(A) Weight of fluid element (B) Hydrostatic force
(C) Variable buoyancy forces (D) None of the above

240. How is the incident radiation absorbed by a gas layer?
(A) A gas layer absorbs incident radiation slowly
(B) A gas layer absorbs incident radiation rapidly
(C) doesn’t matter
(D) unpredictable

241. The body which transmits all the radiations falling on it is called
(A) Opaque body (B) White body
(C) Black body (D) Transparent body
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242. Which of the following condition is correct for natural convection?
(A) (Gr / Re2) = 1 (B) (Gr / Re2) << 1
(C) (Gr / Re2) >> 1 (D) None of the above

243. Total emissive power and absorptivity of a general and black bodies are connected by
(A) Wein’s law (B) Plank’s Law
(C) Kirchoff’s Law (D) Stephen Boltzment’s Law

244. Ratio of total emissive power of a body to the total emissive power of black body is called:
(A) Absorptivity (B) Reflectivity
(C) Transmissivity (D) Emissivity

245. Amount of radiation depends on
(A) Nature of body (B) Type of surface
(C) Temperature (D) All of the above

246. In forced convection, Nusselt number is a function of:
(A) Prandtl and Grashof numbers
(B) Only Grashof number
(C) Reynold and Grashof numbers
(D) Reynold and Prandtl and numbers

247. When a body is subjected to a direct tensile stress () in one plane, then normal stress on an
oblique section of the body inclined at an angle è to the normal of the section is
(A)  cos  (B)  cos2 
(C)  sin  (D)  sin2 

248. Relation between elasticity modulus (E), rigidity modulus (C) and bulk modulus (K) is:
(A) E = 3KC / (C + 9K) (B) E = 9KC / (C + 3K)
(C) E = (C + 9K) / 3KC (D) E = (C + 3K) / 9KC

249. A rod of length l tapers uniformly from dia D1 to D2 and carries axial tensile load P. The extension
in rod will be:
(A)  P l / 4 E D1 D2 (B) 4 P l /  E D1 D2
(C)  E P l / 4 D1 D2 (D) 4 P E l /  D1 D2

250. Support is non-yielding means:
(A) Slope of beam at support is zero (B) Support is frictionless
(C) Support holds the member firmly (D) None of the above

251. A shaft of diameter D is subjected to a twisting moment (T) and a bending moment (M). If the
maximum bending stress is equal to maximum shear stress developed, then M is equal to
(A) T/2 (B) T
(C) 2T (D) 4T

252. Simply supported beam of span (l) carries UDL (w kgf/m) throughout. Deflection at center is
(y). If length is doubled, deflection at center would be:
(A) 2y (B) 4y
(C) 8y (D) 16y

253. Cantilever beam of length (L) carries UVL with zero at fixed end and (w kgf/m) at free end.
Deflection at free end would be
(A) wL^4/3EI (B) wL^4/8EI
(C) 11wL^4/120EI (D) wL^4/30EI
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254. Maximum eccentricity (e) of vertical load on a short column of OD (D) & ID (d) is given by:
(A) (D^2 - d^2) / 8D (B) (D^2 + d^2) / D
(C) (D^2 + d^2) / 8D (D) 8D / (D^2 + d^2)

255. In a stress-strain diagram as shown in the below figure, the curve A represents 

O

C B
A

D

ESt
re

ss

Strain

(A) Mild Steel (B) Soft Brass
(C) Low Carbon steel (D) Cold rolled steel

256. Beam of uniform strength can be designed by
(A) Varying depth but maintaining width (B) Varying width but maintaining depth
(C) Varying depth and width (D) None of the above

257. Motion of shaft in circular hole forms:
(A) Incompletely constrained motion (B) completely constrained motion
(C) Successfully constrained motion (D) None of the above

258. Ackermann steering gear mechanism is inversion of:
(A) Slider crank chain (B) Four bar chain
(C) Double slider chain (D) Crossed slider crank chain

259. Scotch yoke mechanism is the inversion of
(A) Single slider kinematic chain (B) Double slider kinematic chain
(C) Four bar chain (D) None of the above

260. Shaft with taper key is an example of
(A) incompletely constrained motion (B) completely constrained motion
(C) successfully constrained motion (D) All of the above

261. In spur gear, circular pitch is the ratio of:
(A) Number of teeth to PCD
(B) PCD to number of teeth
(C) Circumference of PCD to number of teeth
(D) None of the above

262. Train value of gear train is
(A) Equal to speed ratio (B) Half of speed ratio
(C) Reciprocal of speed ratio (D) Double of speed ratio

263. Acceleration of flat faced follower, when it is in contact with flank of circular arc cam is:
(A) w^2(R - r) sin  (B) w^2(R + r) sin 
(C) w^2(R - r) cos  (D) w^2(R + r) cos 

264. Why is double Hooke’s joint used?
(A) To obtain uniform velocity ratio (B) To obtain variable velocity ratio
(C) Both (A) and (B) (D) None of the above

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



ALF - MASTER ] 15 P.T.O.

265. When balance weights are introduced in a plane parallel to the plane of rotation of disturbing
weight, the minimum number of balance weights, for balancing single revolving disturbing weight
will be:
(A) One (B) Two
(C) Three (D) Four

266. In balancing, reference plane is a plane which is:
(A) Passing through plane of rotation of rotating weight
(B) Passing through plane of rotation of balancing weight
(C) At 45 deg to rotating weight
(D) At 45 deg to balancing weight

267. Oxides, nitrides, carbides and silicates of metals are called as:
(A) Organic materials (B) Ceramic materials
(C) Ferrous materials (D) Non-ferrous materials

268. An eutectoid steel consists of
(A) Wholly pearlite (B) Wholly austenite
(C) Pearlite and ferrite (D) Pearlite and cementite

269. Silicon carbide is a _______ abrasive.
(A) Natural (B) Synthetic
(C) Artificial (D) None of the above

270. The lower critical point for all steels is
(A) 600°C (B) 700°C
(C) 723°C (D) 913°C

271. Iron-carbon alloys containing 1.7 to 4.3% carbon are known as
(A) Eutectic cast irons (B) Hypo-eutectic cast irons
(C) Hyper-eutectic cast irons (D) None of the above

272. Lower critical temperature of steel
(A) Is constant
(B) Depends on the rate of heating
(C) Varies according to carbon content in steel
(D) None of the above

273. The process of reducing ore with carbon in the presence of flux is called as
(A) Hardening (B) Smelting
(C) Quenching (D) Shaping

274. Quenching is not necessary when hardening is done by
(A) Case hardening (B) Flame hardening
(C) Nitriding (D) None of the above

275. A circular is obtained when steel is
(A) Quenched in oil (B) Cooled in still air
(C) Slowly cooled in furnace (D) Quenched in water

276. Recrystallization temperature depends on:
(A) Grain size (B) Type of metal
(C) Annealing time (D) All of the above
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277. In EDM, the tool is made up of:
(A) Cast iron (B) Copper
(C) Brass (D) All of the above

278. Wear ratio of tungsten carbide work is:
(A) 0.5 (B) 1
(C) 2 (D) 3

279. In chemical milling process, the chemical reagent of steel work piece is:
(A) Nitric acid (B) Sodium sulphate
(C) Caustic soda (D) Sodium chloride

280. Which of the following impurity in cast iron makes it hard and brittle?
(A) Silicon (B) Sulphur
(C) Manganese (D) Phosphorus

281. In case of gas welding, the flux is
(A) Used as powder (B) Coated on electrodes
(C) Not used (D) None of the above

282. Ball bearings are, usually, made from
(A) Low carbon steel (B) High carbon steel
(C) Medium carbon steel (D) Chrome steel

283. Which of the following is example of plastic welding?
(A) Gas welding (B) Arc welding
(C) Thermit welding (D) Forge welding

284. In thermit welding, aluminum and iron oxide are mixed in proportion of
(A) 1 : 3 (B) 1 : 2
(C) 1 : 1 (D) 2 : 1

285. The binder in case of synthetic sand is:
(A) Clay (B) Molasses
(C) Water (D) Bentonite and water

286. In arc welding, the electric arc is produced between the work and the electrode by
(A) Voltage (B) Flow of current
(C) Contact resistance (D) All of the above

287. The process of making hollow casting from permanent mould by close fitting core is called
(A) Die casting (B) Slush casting
(C) Pressed casting (D) Centrifugal casting

288. If ball bearing is to be fitted on a shaft, the fit between the inner race of bearing and the concerned
shaf will be _______ fit.
(A) Clearance (B) Interference
(C) Transition (D) None of the above

289. In case of which fit, the tolerances are most tight?
(A) Clearance (B) interference
(C) Transition (D) Can not say
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290. In submerged arc welding, an arc is produced between a
(A) Carbon electrode and the work (B) Metal electrode and the work
(C) Bare metal electrode and the work (D) Two tungsten electrodes and the work

291. _______ is useful for angular measurement.
(A) Angular gauge (B) Interferometry
(C) Both (A) and (B) (D) None of the above

292. A pattern maker’s shrinkage rule considers
(A) All pattern allowances (B) Only shrinkage allowance
(C) All materials to be cast (D) All materials of the pattern

293. Snap gauge is used to check
(A) Inner dia of component (B) Outer dia of component
(C) Both (A) and (B) (D) None of the above

294. Burnishing process can give _______ surface finish on a component.
(A) Lowest (B) Highest
(C) Bi-directional (D) Unidirectional

295. The algebraic difference between the minimum limit and the basic size is called
(A) Actual deviation (B) Upper deviation
(C) Lower deviation (D) Fundamental deviation

296. Lay is a concept applicable for _______
(A) Tolerance (B) Fit
(C) Surface finish (D) Machine layout

297. _______ drawing should be drawn prior to _______ drawing
(A) Assembly, Part (B) Part, Assembly
(C) Part, Working (D) Assembly, Working

298. Which of the following welding process uses non-consumable electrodes?
(A) TIG welding (B) MIG welding
(C) Manual arc welding (D) Submerged arc welding

299. _______ tolerance is related to alignment of components
(A) Roughness (B) Perpendicularity
(C) Straightness (D) Runout

300. Metal patterns are used for
(A) Small castings (B) Large castings
(C) Complicated castings (D) Large scale production of castings
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